CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges.	See Invoice for actual schedule and charges.
- 1, Greg De Lancey	, hereby request station time as follows:
3	
FEDE	RAL CANDIDATE
IDENTIFY CANDIDATE TYPE STATE	OR LOCAL CANDIDATE
~	
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED
Candidate name:	
Daviel CAMERON	
Authorized committee:	
Canoway County REPUPLIC	an Perty
Agency requesting time (and contact information):	
N/A	
Candidate's political party:	
Republican	
Office sought (no acronyms or abbreviations):	
Governor	
Date of election:	General Primary
Novembe 7, 2023	ST S
Treasurer of candidate's authorized committee:	
Thomas Collins	
The undersigned represents that:	
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):
the candidate listed above who is a legally qualified car	ndidate, or
the authorized committee of the legally qualified candi	date listed above;
(2) this station is authorized to announce the time as paid for b	y such person or entity; and
(3) this station has disclosed its political advertising policies, including and other sales practices (not applicable to federal candidate)	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Gommittee/Agency	Station Representative
Signature: Les Destona	Signature:
Name: Greg Delances	Name: TAMY Petty
Date of Request to Purchase Ad Time: 10 - 25-23	Date of Station Agreement to Sell Time: 10 25-23

10:23 Am

to an opposing candidate or, if it does, (2) for a duration of at least four seconds and the candidate approved the broadcast are	broadcast matter to be aired pursuant to to contains a clearly identifiable photograph das simultaneously displayed printed statement the candidate and/or the candidate ins a personal audio statement by the candidate has approved the broadcast.	or similar image of the candidate nent identifying the candidate, that 's authorized committee paid for the
Candidate/Authorized Committee/A	Agency	
Signature:	N/A	
Name:		
Date:		V-92
то	BE COMPLETED BY STATION ON	ILY
Ad submitted to Station? Yes	No Date ad received: _	10/25/2023
Note: Must have separate PB-19 Form	ns for each version of the ad (i.e., for e	very ad with differing copy).
Federal candidate certification signed (ab	ove): Yes No	N/A
Disposition: Accepted Accepted IN PART (e.g., ad copy Rejected – provide reason:	not yet received to determine sponsor ID)	*
*Upload partially accepted form, then pro	omptly upload updated final form when co	mplete.
Date and nature of follow-ups, if any (e.g.	, insufficient sponsor ID tag):	
Contract #: 14735	Station Call Letters: WFGS, WNBS	Date Received/Requested:
Est. #:	Station Location: Mukkey by	Run Start and End Dates:
use this space to document schedule of t purchased or attach separately. If station	affic system print-out) or other documents in ime purchased, when spots actually aired, t will not upload the actual times spots aired information immediately should be placed	reflecting this transaction to the OPIF or the rates charged and the classes of time until an invoice is generated, the name
	M.	

.

AGREED UPON SCHEDULE

For All Issue Advertisements That Communicate a Message Relating to Any Political Matter of National Importance

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
	5	iee at	ached		

Total	Cha	rges:

AFTER AIRING OF BROADCASTS:

Attach invoices or Schedule Run Summary to this Form showing:

- (1) actual air time and charges for each spot;
- (2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- (3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired.

For programming that "communicates a message relating to any political matter of national importance," list the name of the legally qualified candidate(s) the programming refers to, the office(s) being sought and the date(s) of the election(s) (if applicable):
For programming that "communicates a message relating to any political matter of national importance," attach Agreed Upon Schedule (Page 3)
I represent that the payment for the above described broadcast time has been furnished by:
l'Alloway Co. Repupliera Danty
and you are authorized to announce the time as paid for by such person or entity. The entity furnishing the payment, if other than an individual person, is:
\square a corporation; $ otin $ a committee; \square an association; \square or other unincorporated group.
The names, offices, and addresses of the chief executive officers, directors, and/or authorized agents of the entity are named below (may be attached separately):
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
I agree to indemnify and hold harmless the station for any damages or liability, including reasonable attorney's fees, that may ensue from the broadcast of the above-requested advertisement(s). For the above-stated broadcast(s), I also agree to prepare a script, transcript, or tape, which will be delivered to the station at least 48 H/L \(\frac{1}{2} \) before the time of the scheduled broadcasts.
TO BE SIGNED BY ISSUE ADVERTISER
Date Signature Contact Phone Number
TO BE SIGNED BY STATION REPRESENTATIVE
Accepted
Signature TAMEN Tetty General Manager

REPUBLICAN PARTY OF CALLOWAY COUNTY 4699 AIRPORT RD 04-21 ALMO, KY 42020 PH 270-226-5560 Pay to the Order of WFGS Order of WFGS One thousand and hundred eighty childre and no cents Multray Bank Murray, KY 42071 For Madio add Thousand Calling Manage Calling Ma						
One thousand and hundred eighty follow and no anty Dollars Dollars Murray Bank Murray Bank Murray, KY 42071	4699 AIRPORT RD 04-21 ALMO, KY 42020	20	73-7441/839 01	36 36). (6)	Э.
Murray Bank Murray, KY 42071	Pay to the WFGS One thousand with hundred	eighte lellow and no auto	1/000			
	Murray Bank Murray, KY 42071					

Forever Media 1500 Diuguid Dr.

Murray, Kentucky 42071-0031

CALLOWAY CO REPUBLICAN PARTY

4669 Airport Road

Murray, Kentucky 42071

Phone: (270) 753-2400

Advertiser:

CALLOWAY CO REPUBLICAN PARTY

Order #:

442381742492

Contract #:

14735

Date Entered: Last Modified: 10/25/2023 10/25/2023

Product:

DANIEL CAMERON

Salesperson:

House House

Billing Cycle:

Estimate #:

Calendar Month

Order Date Range: 10/26/2023 through 11/07/2023 (2 weeks) Media Outlets: WFGS-FM, WNBS-AM

On-A	ir	Sc	he	du	le
------	----	----	----	----	----

#	Dates	Station	Time/Program	Len	Мо	Tu	We	Th	Fr	5a	Su !	5/W	Rate	Qty	Total
1	10/26/23-10/29/23	WFGS-FM	06:00AM-07:00PM	60				-5	5	-5	5	20	15.00	20	300.00
2	10/30/23-11/01/23	WFGS-FM	06:00AM-07:00PM	60	7	7	7					21	15.00	21	315.00
3	11/02/23-11/06/23	WFGS-FM	06:00AM-07:00PM	60	8			8	8	8	8	40	15.00	40	600.00
4	11/07/23-11/07/23	WFG5-FM	06:00AM-12:00PM	60	••	3		-	**	••	•••	3	15.00	3	45.00
5	10/26/23-10/29/23	WNBS-AM	06:00AM-10:00AM	60				5	5	5	5	20	5.00	20	100.00
6	10/30/23-11/01/23	WNBS-AM	06:00AM-10:00AM	60	7	7	7					21	5.00	21	105.00
7	11/02/23-11/06/23	WNBS-AM	06:00AM-10:00AM	60	8			8	8	8	8	40	5.00	40	200.00
8	11/07/23-11/07/23	WNBS-AM	06:00AM-10:00AM	60		3						3	5.00	3	15.00

Station Totals

<u>Station</u>	On-Air Count	Digital Count	Web Count	Other Count	Gross Billing	Net Billing
WFGS-FM	84	0	0	0	\$1,260.00	\$1,260.00
WNBS-AM	84	0	0	0	\$420.00	\$420.00
Totals	168	0	0	0	\$1,680,00	\$1,680,00

Total Charges:

\$1,680.00

Total Net:

\$1,680.00

	Projected B	illing By Calendar Month Month	
<u>Month</u>	<u>Year</u>	Gross Billing	Net Billing
October	2023	\$680.00	\$680.00
November	2023	\$1,000.00	\$1,000.00
Totals		\$1,680.00	\$1,680.00

Accepted for Forever Media

Accepted for advertiser OR agency as agent for the advertiser

Order Summary - Printed at: 10/25/2023 11:00:44am

Page 1 of 1